Year 10 Chapter 9 Trigonometry Booklet
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4 Wiite down the letter or letters matching the hypotenuse (i.e. the side opposite the right angle)
on the following triangles.
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1 Which of the following triangles have a side known as the hypotenuse?
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2 Copy these triangles into your workbook and label the hypotenuse. 8
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4 Find the value of &® + b? when:
a a=3andb

b a=3and
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[ 5 Find the length of the hypotenuse in these right-angled trangles
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6 Find the length of the hypotenuse in these triangles, correct to one decimal place.
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Find the value of the hypotenuse in these triangles, correct to two decimal places.
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Exercise 9B
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1 Whatis the length of the hypotenuse in each of these triangles?
a b 6 c 9 d
) &
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2 Copy and complete:

a When 107 =62 +w?, then w? = 10> -] Q
b When 132 =5%+x2, then x> = 13> =[],
© When 302 = p?+ 182, then p? = []- 182
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3 Substitute the numbers and pronumerals into Pythagoras' theorem ¢ = a? + b, for each of
these triangles. Do not solve for the unknown
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[ ¢ Determine the value of xn these triangles, using Pythagoras' theorem.
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[ § Determine the value of x in these triangles, using Pythagoras’ theorem.

Answer correct to one decimal place.
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g © Determine the value of x in these triangles, using Pythagoras” theorem. Answer correct to
two decimal places.
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Exercise 9C
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1 Draw a diagram for each of the following questions. You don't need to P §
answer the question.

a A 2.4m ladder is placed 1 m from the foot of a building. How far up
the building will the ladder reach?

b The diagonal of  rectangle with length 18 cm is 24 cm. How wide is the rectangle?

© Sebastian walks 5 km north, then 3 km west. How far is he from his starting point?
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2 Name the right-angled triangles in each of the following diagrams; e.g. AABC.
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3 Name the hypotenuse in each of the shaded right-angled triangles found within these
three-dimensional shapes; e.g. FG.
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E 4 Two skyscrapers are 25 m apart and a cable runs from the top of
‘one building to the top of the other. One building is 350 m tall
and the other is 250 m.

a Determine the difference in the heights of the buildings.

b Draw an appropriate right-angled triangle you could 250m
use to find the length of the cable.

© Find the length of the cable, correct to two decimal places.

350m

(Not to scale)

f © Find the value of x in each of the folowing, corrct to one decimal place

Where necessary.
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Exercise 9A
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1 Round the following decimals, correct to two decimal places.
a 1584312 b 164.8731 c 0.86602 d 057735
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[ 2 Find the value of each of the following.
a 5? b 687 c 197 d 92+122 e 3124582 f 412-40




image4.png
B2 wnm the following as.

a decimal, correct to one decimal place.
b V7 ¢ V15




